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Warm Up Grade 8
Monday, Sept. 20, 2016

Grade 7 Review of Adding Integers

Note on division: (+15) + (+3) = (+5)

Dividlnd Divisor Quotient

REVIEW

Represent the following with a addition statement of integers, then find

the sum:
a)Karen lost $15 but found $20

(N s
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Page 87-88 #4, #5(a,c.e,g,i), #8(a,d), #9(a,c), #10(a,b,c,d), #11(a,b), #12(a,b), #15(a,b,d), #16

#4)a) -9 b)+2 c)-12 d)+5

. Solutions
5)a) (+12) + (+4) = (+3)

c) (-18) + (+9) = (-2)

e) (+72) = (-8) = (-9)

g9) (-14) = (+1)=(-14)

h) (-27) = (-3) = (+9)
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(‘)’ﬁ WISS #4, #5(a,c,e,g,1), #8(a,d), #9(a,c), #10(a,b,c,d), #11(a,b), #12(a,b), #15(a,b,d), #16
g () X H5)= =3D _—
(-30) = Wg) = b
(=30 = ()= +5
by T x B =+H2
+42= Y =*7
+h2 = @D =T
L) YR =4y = -3,
“3b=- -H =79
3L = Wy - Y
N P x - +32
+32= (-4)=-3
+32 =9 =-4

-:20_“+U( )J’LZL_—
. )2 =3

63'3‘0 ’q A) —Q. :O

’——_|_—
+ -—

a  a)
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Page 87-88 #4, #5(a,c,e,g,i), #8(a,d), #9‘(;0), #lO(a,b,c,d-)j-#l a,b), #12(a,b), #15(a,b,d), #16

6. «)+25 —
)93 —_lb— V (-C\\ - ¥ ,D . Solutions

) By =7
dy 2L L-3=

e) "o = Wg)=-12
3\*”‘“\ Z =-DN= -

) e - m =Y
% *H‘% ~ -=-1l

. ’SQ-'.L_—))_:

gL—c bb“\"b\,\)-cdk My Bey —9\)\{‘ 1 O\O&-IQS
2. (=18 — (+48)=-

The Lomp. dropped 2 ° each howr.

13 (1132) = (1) = )
yer bd-\O\hce AY‘OPP'C) g)) uwc_c»k.

121 -2 = L=k = '“‘}
Q\q_e, )b_g]l; Lo Pb'\m‘,-’/'J oN COL/L\ bSl

B Y \o-e.r;brmamces ,
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Cage 87-88 #4, #5(a,c,e,z,i), #8(a,d), #9(a,c), #10(a,b,c,d), #11(a,b), #12(a,b), #15(a,b,d), #16

Suppose you divide two integers. The quotient is an integer.
* When is the quotient: Homework

. Solutions
(a) less than both integers

_l:}_ﬂ\-i;_L3“.‘:\%_?__Z‘f;ﬁ__f__E_lfJfﬁ_*_"_EJ?___dEf;‘;A_S__f%‘_‘i*f_
o3 ’L\' DLU\ é&o\a a\'|\)'|4-°¢
A3 5 3) =TI o post A o hsa
SN btk 1k s Hhe Soutprs.

(b) greater than both integers 'E 'Q
When WoL- MV ke o NeGEBIvE SN S
n-e.gocﬁ'\\!e. v (1)) = (-6) = 7

(c) between the two integers , _
1D =-4 (—;2_6\/,(:2= 1
Shen wpy dioide o negetive XS

(\Sss\ IR &

equal to a +1

. ! r b
be ahide He same intiger o
'ﬁ;sl]sgfwgi (-24) = (—34\ =/

(e) equal to -1 . .
- Dheh Lo Hvrde o?PbCI‘&» \r\l:gﬂcrs
(YY) = (=5 = ~|

(f) equal to 0

-’\,b\ve\'\ ) 1 € O\N\O\QJ‘ ‘\:’,"i The
.\h&ﬁff

Ex 6268)=0 o= 1R\=0
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Rules From Grade 7 Integer Unit N
Unit 2: Integers -1 +1

Adding with tiles

-When you add integers you represent each integer in the
addition statement. (Remove zero pairs and state answer)

o (2)+(+3) =43

(2) i
+5 NNNN K
z6r0 pair
G- E
+3) T
Adding with Number lines o]

- Always start at zero
) . . 2) - ‘,’S
- Count the bumps in the road for the first mteger@ﬁ) +(+

Move to the right = if positive R

Move to the left < if negative 0r234ys 61¢9q W

- When adding the second integer we count the bumps on the road in
the direction given from where we ended with the first integer.

-Where you end up is the answer.

(4)+ (+6) = Y

left right
. N
WT/—‘ t ,' +—t—t

P Y Y [ "
— } — —
9-8-7 6-5 -4 -3 -2 -1 0 +1 42 +3 +4 +5 +6 +7 +8 +9
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MSCJ“'\'Q?\/Iodeling Integer Addition

4y +(+2) = TO
VXX A /\
® @

3+ = ~
OO
QOO0
Bank

()+(5) = —7] A %

QO
OO 000

>

X
1187 =

ZL70 paies
A
&)+ (+a) = 4
OC0O00BO 2
EelGIC
2¢ro

Pas
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Modelling Integer Addition using Number Lines

We have modelled integer addition using algebra tiles, now we will add using number
lines. Remember with number lines positive is to the right and negative is to the left.

Always start at zero
(@F3)+ () =+ §

—

—
4 | 1 | l 1 1 1 ] | ] l | 1 | [
B I | I I I I I I I I I I 1 | 1 il
=10 9 =8 =T =6 =56 =4 =3 =2 =1 0 +1 +2 +3 +4 +5 +6 +7 +9 +10

(b) (2)+(-4) = ~©

4! I | 1 | 1 | I | I | 1 | |
- 1 I 1 I | I 1 I I I 1 I |
-0 -9 -8 =7 6 =56 4 -3 =2 =1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

(©) (+6)+(-3) = ¥I

.
L

e
-——-"—ﬂ

I I I >
=10 =9 =8 =T =6 =5 =4 =3 =2 =1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10

@4 +(+8) = +4

7

P/-_—’_‘

—10—-9 -8 -7 —6 -5 —4 —3 =2 —1 0 +1 42 +3
(€) (-/)+(+5) =2

+5 +6 +7 +8 +9 +10

—_

! Ie-‘l_‘—llgl_’/l l 1 | l | |

) T T >
-10 -9 -8 =7 6 -5 —4 -3 C2 )1 0 +1 +2 +3 +4 +5 +6 +7 +8 +9 +10
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Adding with Rules

-When we add two integers with the same signs: Thinking
Ex) 1 Thinking Ex) 2 4+8 = 12

- -7)= : So answer is +12
(Q’ +/(7)-'10 S P () +/+8>=+12

so answer is -10

both signs (-) both signs (+)

Both signs the same then just add both numbers
together, ignoring the sign, and the answer has to
have the same sign as the original integers

+) + (-
-When we add two integers with the different signs:

Step 1) Cover up the signs and ask yourself which number is larger.

The answer will have the sign of the bigger number

Step 2) Since they are different, ignore the sign and find the difference
between the two numbers (Big minus small). That is your number for
the answer

Ex) (+2) + /-7) =-5

2 9= \

Different signs

between 2 & 7, 7 is bigger so the sign on 7
Step 1 ) goes with the answer (-)

Different signs

step 1) When you cover up the signs, we have 12 & 3.

12 is Larger so our answer will have the sign on Step2) 7-2=5
12 which is (-) :

step2) 153 =9
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Add the following usiréhe rules.

(@) (12) (-9) -

(©) (-15) +(-6) =
@) 12-CJ
(&) (-17) +(-T) =

(i) (-8) + ( +12) =@
(9 (-16) + (+14) =

(b) (8)+ 3=
(d) (+14) + (-4) =

(f) (-25) + (+16) =@

(h) (+30) + (-21) = @

p(+9+ =3 HY
0 200+ (-n =) 13
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Rules for Adding Integers

When you add two positive integers,
add the numbers and your answer will be positive.
Ex. (+6) +( +8) = +14 (+11) + (+9) = +20

When you add two negative integers,
add the numbers and your answer will always be negative.
Ex. (-5) + (-7) =-12 (-8) + (-10)=-18

When you add a positive integer and a negative integer,
subtract the numbers, and keep the sign of the larger number.
Ex. (-6) + (+8) = +2 (+4)+(-9)=-5
(+9) +(-12)=-3 (-15) +(+20) =+5
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Test Tuesday or Wednesday next
week (Sept 26 or 27)

9 6
l) Q@\)Q)‘Q )3) q‘ )
J
1 liac

\D;.)sﬁ\@&
Worksheet 235
Adding Integer Review
?
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% Grade 8 Math SHEET 235.docx
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Review of Grade 7 Adding Integers & Modeling

1) For each of the following Model with tiles   

a. (+5) + (+1)		b.   (-1) + (+8)		c.  0 + (-5)		d. (-7) + (+4) 





e. (-2) + (-2) 		f.    (-6) + (-5) 		g. (+4) + (-4)		h.  (-12)  +  (+8)



  

2) Use number lines to model each addition below (Use number line sheet provided)

a. (+6)+ (-4) 	b.  0 + (-2) 	c.  (-3) + (-7)	d.  (-8) + (+5)           e. (-9) + (+9)         f.   (+12) + (+6)

g.  (-14) + (-1)  	h.(+3) + (-14)



3) Fill in the blank with the correct integer.

a. (+5) + ___  =  +8		b.  ___ + (-3)  =  -4		c.   (+3)  + ____  = +1

b. (-5) +  ____ = -3		e)  (+2)  + ___  = +1 		f.  ____  + (-6)   = 0



4) Add the following using addition rules

a. (+2) + (+3)		b.  (-3) + (+4)		c.  (-4) + (-5)		d.  (+8) + (-1)

[image: ][image: ]e.  (-10)  +  (-6) 		f.  (+4) + (-13)

5) Write the addition equation modeled by each number line

a. 							b.





6) Show work for  each of the following (do the question in steps)

a. (+7) + (-5) + (+6)		b. (-9) + (+2) + (-3)	c. (+1) + (-6) + (+11)	d.  (-3) + (+5) + (-1) + (+8)		

image1.png







image2.png







SMART Notebook


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Attachments Page 1

